Manuals+ — User Manuals Simplified.

ULINE Tip and Roll Kit For 3-Row Bleachers H-4755 User
Guide

Home » ULINE » ULINE Tip and Roll Kit For 3-Row Bleachers H-4755 User Guide -

ULINE Tip and Roll Kit For 3-Row

Bleachers H-4755 User Guide

[JITd H-4755 1-800-295-5510

TIP AND ROLL KIT FOR uline.com
3-ROW BLEACHERS

uline.com

WARNING! Due to outdoor wind hazards, bleachers with tip and roll kits, while suitable for indoor or
outdoor use, should only be tipped up onto the casters when indoors in order to prevent them from tipping back
over unintentionally.

Contents

1 TOOLS NEEDED
2 PARTS

3 ASSEMBLY

4 Documents /
Resources

5 Related Posts


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/uline
https://manuals.plus/uline/tip-and-roll-kit-for-3-row-bleachers-h-4755-manual.pdf
http://uline.com

TOOLS NEEDED

| —
1/2" Deep Well 9/16" Deep Well
Electric Drill Socket @ Socket
with Flathead Bit Socket Wrench
PARTS
(&)
\=) &)
Screw x 12 Washer x 12 5/16" Flange Nut x 12 3/8" Flange Nut x 4
5" Swivel Caster x 2 5" Swivel Caster with Brake x 2 Rubber Foot Pad x 12

ASSEMBLY

1a. Each of the three bleacher frames has four predrilled holes along the bottom. (See Figure 1)

Figure 1

T Tt

1b. Attach four rubber foot pads to the predrilled holes using a screw, washer and 5/16" flange nut. (See Figure 2)




Figure 2

E—sn 6" Flange Nut

Rubber Foot Pad— Frame

Washer

(AR

Screw

:

2a. Each of the three bleacher frames has two predrilled holes along the back. (See Figure 3)

Figure 3

2b. Insert the casters into the predrilled holes and attach using 3/8" flange nuts. (See Figure 4)

=~ NOTE: Casters with brakes go on the bottom holes.
=~ NOTE: Casters go on the outside frames only. There are no casters on the middle frame.

Figure 4
— Frame
[ommss —
O

3/8" | I
Flange L

Nut

Caster




Documents / Resources

ULINE Tip and Roll Kit For 3-Row Bleachers H-4755 [pdf] User Guide
= | Tip and Roll Kit For 3-Row Bleachers, H-4755

Manuals+,


https://manuals.plus/m/eea17c8c86bfa9012b594e25302d75149915c6fecd0dc0fe495b46294b5d6651
https://manuals.plus/m/eea17c8c86bfa9012b594e25302d75149915c6fecd0dc0fe495b46294b5d6651_optim.pdf
https://manuals.plus/

	ULINE Tip and Roll Kit For 3-Row Bleachers H-4755 User Guide
	TOOLS NEEDED
	PARTS
	ASSEMBLY
	Documents / Resources


